(71 1] SHSEEKRGHABEZHENEMMER (BHY | —FEiRE T 5)
£2 Sl - WETG | REEW | EREW | RBREE GE | BR | wEss | BEDE | BER L
TEER B R EREL FrfEh =

1 AR EXM(BEE. EEHED) BREFHREXAtEmERR |t mAEFET L F5219%F#1 B Y—hE, BEE 1,947 3,161 1993 2 O| it = = EHEFHS
2 AEHREXF AEREXAHEBHRE | TEEREHF2155 BHa ) —hE 623 1,048 1990 2 O|$rifit = TEA TEA
3 SR E X ERREXAHETRE |t TSRETAILALEI3261 HHa Y —hE 1,614 2,620 1982 2 O[Tt = i
4 ARBEREHREXF. B=EEL) FTEFER et T R SRETEE H Hi3164 7311 oY) —hE 986 1,712 1980 2 o|IBfitE £ EhEFH 2013
5 INMRBEXFUNMREEE, £EST L 4—Cibchat) |EEP TR et/ NRIRET 771134 ERaV Y —hiE 3,012 3,970 1973 2 B £t EhEEH 2014
6 BMNBEXA (S4T3)—Lw5. BMINEESD) (BMNKREXFEmERER |[dtHmaMETaZE312% 1 I )—bE 918 1,270 2003 2 O|Fhit = = EhEFH
7 D RDER R RRIEHE R JbrtTHBAEFET £ F 112 oY) —hiE 509 509 2003 2 O|#rifit = = EHEFH
8-1  |{&)IIfRkE (KR, FfE. SHRBERT—1avKLAR) |[BERIEER b HEERTERET73%E 1 oY) —hE 3,620 8,802 2003 5 0| #rifit &= = EhFH 2003
8-2 |LErhiEFNE 2RI R et hZE ERTEEE 7872 HEE 2,532 3,375 1995 2 0| = = EEEH
9 LonEREE CELRER T SRR E#H2270F 1 #AEFaL Y —hiE 775 672 1981 1 O|#Tit = = EhEEH 2000
10 REREEBHES CELRER e RIRETRIR T 512375 #13 BHEE 153 153 2015 1 O|#T = = EhEFH
11 IRERBE-LHBIELE CELRER et R IRET B HiR4160 BHEE 1,207 1,058 2000 1 0| #rifit &= E Ehe & H
12 WTFHREE CELREBR b RRETAF 29275 02 thEE 1,408 1,279 2019 1 0| &= - -
13 INRIRREBE CELREBR Jeatri/NRRET £ E1290F #13 BHEE 1,578 1,438 2022 1 0| #rifit &= - -
14 RIEREE CELRER bR BT8R 11462 3 #AEFaD Y —hiE 1,077 934 1979 1 0|l E EEEH | TE 1993
15 Rt 54— ORISR dEH TS IRET E 56975 HEaL o) —hiE 1,264 1,115 1995 1 O|#rifit = = = 2016
16 =5 —FEKE AR et RIRET/N TR 2922 i1 EE 600 2003 3 0| #rifit &= E Ehe & H
17-1 |BEXRBRN/STDH) AR db T KR ETEE H 8240 0 1 BHEE 770 2004 1 0| #rifit &= = EhwEH
17-2  |HTHREREL T\ ENT AT LR AT KR BT 8240 % 3 1 BHEE 524 1981 1 0| #rifit &= = EN:
18 RERBREUI— (KRR TAH—EREU2—) [BAR b+ KRBT A F 1880 i oY) —hiE 1,518 1,518 1994 1 O|FTH = = EhEFH
19-1  |RITaAINRIR (REGD5) 3 S bt/ IR ET2968 % 1 1 SEBHIL T — & 1,210 1996 1 O|#rifit &= & EhEEH
19-2  /NRIRETEMEEARBRETE #BAR et /N IR ET2968 2 3 1 & 638 1997 2 O|#rifit = = EEFH
19-3  |UYTLyPabELyPIAbEOIRN\T4ANRIR] [BAR et /N R ET2968 2 3 1 HEBMHILYU— M 1,335 1996 5 HE T = EheFH
19-4 [EOERRZSLShHELERNF BHHR deat /N R ET2968 7 11 MOy —hE 41 2015 1 0| T &= = EhEFH 2014
19-5 |[BEDERZSBEH AL-BER bt/ IR ET2968 % 3 1 BEE 1,032 1,001 2019 1 0| #rifit &= = EhEEH
20-1 [EOERMmELIEHBERRI—IFIL) EIL-BER b EIRET RIR760% i BHEE N 316 1999 1 0| #rifit = = EEFH
20-2 [EDOERMELIE(BEBLANY) EmI-BRER T ERETRIR760% #HEE N 292 1999 1 0| #rifit = = EEFH
20-3 | ERETMEY R T IRSE MR BI-BER e EIRET RIR760% Kis 168 1998 1 O| Tt & = EfEHEH
20-4 |BR&(L-T) REREE b TS IRET RIR759% BHEE 46 1999 it = = EhEEH
20-5 |BrRARE REREE b TS IRET RIR759% i BHEE 120 1999 it = = EEFH
20-6 |EEERIST7—/\—U(TEEEEHAESR) REREE T ERETRIR759% #HEE 253 1999 it = = EEFH
21 B -EEOHEKLE(EBADS) BARR At 5 BT 9788077 Hh 1 #EFaD Y —hE 1,818 2005 1 O| it = = EHEEH
22 EOBRIZLD EL-BEH et B INET B 781308 % i HEE 820 604 2000 1 O| &= = EEEH
23 BERMBRERMI—IFTI(EESNHE) |£EFER M HAERE S F521F 17 #AEFaL Y —hiE 4,808 4,808 2000 2 0| #rifit &= 3 ErEEH
241 |MEEHEE TR et RIRET 19962 112 SMHaT ) —hiE 811 1,269 2003 2|— it = = EhEFH
24-2 | BESDSEFEE TR et RIRAT R 11996232 HMHaT ) —hE 726 726 2004 11— it = 3 EhEFH
25 SH-—FELSRELE PR ELE b KRBT F 30002 # HE oY) —hiE 1,029 1998 it = = EhEFH
26 RELEMtLI—EHELE FEFER et BB R 124323 #HHav ) —hE 1,600 1,538 2013 1 ETES = Ehe & H
27 BREF V) — 53— £ TRKE M AR db#t I BAEFET £ F2,080F i ROV —hiE 255 673 2002 2 1|8t 2 - -
28 BAEF— bt 52— ETFKEMEERR A THAERT KT A H295% Hh HEHaL Y —hiE 530 2002 2 O| it = - -
29 EEEEI)— ot a— +FKE MRS LAt TS ARETE B 3,545% 13,248 1996 il = - -
30 BIRP R -t R— KB MR LAt ARETE R 1,270% #h59 BHaL Y —hE 783 1,498 1999 2 1|3 = - -




[513% 1] SMSFEEKGIHEESE

RIFENEMER (BHY @ —FERET D)

=N

&5 e " —— MBI | RETHE | EREW| RREE GE | BR | wEss | BEDE | BER L
31 BERY)—ta— ETFKEMEERER JtAt TSR ETE B3,545% 11,794 1987 HE - -

32 TRGELT7T—5UR Tk S JtA TS IRETE £3,633F 1995 it E - -

33 A&H&HESF Lt 52— KB MR It RIRATIRI2,604% BEHaL Y —hE 1,808 2000 2 B - -

34 INREIERSE +FKE R At R IRETK/\H5,793% 2004 it = - -

35 INTEREEIEE R — ETFKEMRERR bt RIRET B FHiR4,126 % Hh3 1997 e - -

36 BB Tk et RIRET P 0406 F 15 1995 it = - -

37 WFHDEASE ETKEREEER b KRBT F Hi 298 % ih Hmav o —hiE 979 1,370 2000 2 1[#hm = - -

38 INKIRPERFIEE 2 — ETFKEEERR At /N R ET9,490F Hh HHaL Y —hiE 460 1,180 1995 3 1|7 = - -

39 B 58 3t X ;5K LB fE 2% ETFKEMEERER AT EIMETSR1,708F 1#h2 162 2006 = - -

40 R e 2— TKE R AR )BT 4R 2,349 F Hh 1 BEaL Y —NE 409 2007 1 1|FfE - -

41-1 |BRERNER (KEER) HEE 1,417 2009 1 = = E b

41-2 BB /INER (KRD) BERHER At THBAEFET £ F 8418 BEFa Y —hE 3,472 1974 3 B = X ESy b3 1999
41-3  |BAEF/NER (TLAIL—L) B 136 1974 1 Bt E N N

42 AENER (KRE) HERER JE At T ZE E BT #F 2008 2 BT —hE 4,275 19842 (A& 3ps) it = FE S h 1 2017
43-1 |SIRE/NER (KEEE) SR T BEFOLY)—hE 842 1995 1 = = E b

43-2 |ERE/NMER (KRE) LY —hiE 2,762 1979 3 B E Eid-3 Eid-3 2006
441 |SIRENER (KEFEE) P Sk B ARETH L 1696 B 961 1993 1 = = E b3

44-2  |BIRE/NFER (KRE) B —hE 2,252 1980 2 Bt = Eiih3 =

45-1 |SR/INVER (KEEE) T A ST 2670 HEE 993 1974 1 [=fipes ey iih -3 E b3 1999
45-2 |RINVERR (KRE e —hiE 2,489  1973/1974/1984 3 B = ESyb-3 ESb-3 2000
46 INKIRINZRR (AFEE) BERIEE At /N IRET 7741 B 1,111 1975 1 |Bm= i3 i3 2005
47-1 | BM/MER (KEEE) s PV B 1,007 1994 1 = = E b3

47-2  |EER (D) B oY —HERURRE 1,826|  1960/1961/1976 3 Bt e | ST ES b 2003
48-1  |RINER (KEEE) P s T HEE 949 1980 1 Bt = ESyib -3 E b3 2004
48-2  |RIIVNER (KE BEFaLY)—hE 3,087 1991 3 = E b ESyb -3 1996/2006
49-1  |BAFFZER (KEE) s P —— B 1,597 1997 2 = E E b3

49-2 |(BABFhERR (BRE) $EaL ) —NE 2,997 2005 2 = = EiEF

50-1 |EEPZER (KEFEE) P St AR AT 200 B 1,321 2006 1 i E F= £

50-2 |ZAEHFER (K& BHaL Y —hE 3,042 1969 3 B = E b E b 2002
51-1  |SRPER (KEE) o D o B —hE 1,821 1988 2 it = = E b3

512 |ERPER (KRE) BEHaL Y —hiE 4,116 1988 3 W= = b

52-1 |RAER (KEEE) s R PRTEI— B 1,378 1978 1 |Bm= = EYip -3

52-2 |RHAER (KE) HHa Y —hE 2,252 1978/2002 3 R (— ) | 25 (—50) | 2002
53-1  [/NPREEEE (RS EE) T T HEEOL o) —hiE 1,813 2007 3 it = = EhiF

53-2 |/MNRIRFBER (KRE BHaLHY—hE 3,992 2007 3 = = E b3 2000/2001
54-1 |BMHZER (KEEE) P T B 1977 1979 2 B = e i3 2000
54-2 |BMHPER (KE BHaLYY—E 2,662 1978 3 B = e E b3 2000
55-1  |RIIPZR (KEEE) e D - HEE 1,402 1979 2 Bt = EYip 3 EYip 3

55-2 [HJIPEHR (RE) #Ea Y —NER UK A 2,105| 1978/1980/1998 3 B E (— SR | R (— ) | R




